17d: Law of Sines and Law of Cosines – Day 1
Solve for the required measure of the triangle, if possible. Round angle measures and side measures to the nearest hundredth.

1. Given a triangle with A = 41, B = 72, and a = 15, find c.








2. Given a triangle with a = 17, b = 39, and c = 50, find A.








3. Given a triangle with B = 61, c = 18, and b = 17, find A.








4. Given a triangle with B = 81, a = 15, and c = 72, find b.







5. Given a triangle with a = 72, b = 51, and A = 27, find the area.







6. Given a triangle with a = 16, b = 37, and c = 32, find the area.







Find the AREA of each triangle to the nearest hundredth.  
9. c = 3.58, A = 37.67, B = 69.33








10. a = 6, b = 12, c = 13








11. C = 85, a = 2, B = 19








12. b = 14, C = 110, B = 25









13. a = 68, c = 110, C = 100








Word Problems:
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3.

From points P and Q, 180 meters apart on an east-west line, a tree is sighted on the opposite side of a
deep ravine. From point P, a compass indicates that the bearing of the tree is 27°. From Q, the bearing
of the tree is 43°. How far from P is the tree? (Note: pay attention to what order P and Q must be in)
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4. To determine the distance RS across a deep canyon, Joanna measures a distance TR = 582 yd. She then
finds that m£ STR =32°50'and m£ SRT =102°20". Find RS.
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5.

A baseball diamond is a square, 90 ft on a side, with home plate and the three bases as vertices. The
pitcher's rubber is located 60.5 ft from home plate on a direct line from home to 2nd. Find the distance
from the pitcher's rubber to each of the bases.




image6.png
6.

The Vietnam Veterans' Memorial in Washington, D.C., is in the shape of an unenclosed isosceles
triangle (that is, V-shaped) with equal sides of length 246.75 feet and the angle between these sides
measuring 125° 12'. Find the distance between the ends of the two equal sides.
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1.

To find the distance AB across a river, a distance BC = 354 m is measured off on one side of the river.
It is found that m£ ABC = 112° 10' and m£BCA = 15° 20". Find AB.
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The sides of a parallelogram are 4.0 cm and 6.0 cm. One angle is 58° while another is 122°. Find the

lengths of the diagonals of the parallelogram. »




